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2023-2024 FFEILHEFE R HEHPRER— (B P\HEdE
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1. HHEA A={x] - 1<x<4, xeN}, WELS A TRTENM N ¢ D

A. 3 B. 4 C. 5 D. 6

2. CHIES{, 4cAc{l, 2, 3, 4} ES A BN EON ( )
A. 4 B. 3 C. 2 D. 1
3. BRI <a B— DD FMEN 0<x<1, WL o MBUETEHEZ ( )

A. (0, 1] B. (0, 1 C. [1, +o) D. (1, +%°)
4. BHIES A= {x|x>2}, B={x]x<2m}, HCrBSA, NISZ¥ m MEETERE ( )
A. (1, +OO) B. [1, —‘,—OO) C- (—OO’ 1) D. (_007 1]

s, DHIBAER ar bR 3a+2b=1, muﬁfa@%d\ﬁ%( )
a
A. 23 B. 24 C. 25 D. 26
6. FHIAZERIEMIE ( )
A ar-2 B. (-a) +(—)<-2
1
C. a2+—2}2 D. (-a)2+(—%)2{r2
a
7. BEIRE y=xP+mxm? - T WPHAE S, —AFEKT 2, BAA—AFLUNT 2, WS m FEUE T

A. (-0, -3) U (1, +o°) B. (-3, D
C. (-0, -1) U (3, +o) D. (-1, 3
8. W. ZM AR WEERIHE, B FBEPT, —FREIE, 4—BREPAT, —FREEs,
R NBATHE . HOPHEEBIHE, AT /N T P, ARG hEfmmZ ¢ )
A, PRBHE B. ZSEHIH=
C. PN AFIRFIH=E D. 5B H = A E
=, BB R 40NE, BAES S, K20 5. ERDMEAHIETY, BET/FEEEER. &
FRIEXT AR 5 4, EROMEXTHIR 2 4, FIEERR 0.
(Zi8) 9. MMEESES a, b, oo HHTFIGE, KA yEaERZ ¢ )

A. “a=b" & “ac=bc” WL ELM:
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B. “a>b" & “a*>p>7 [Ny
C. “a<<5” J& “a<<3” MIbELAF
D. “at+5 RTHH” 2 “a RTEHE MR 5%
(£i%) 10. CHES A= {xx® - 4=0}, B={xlax- 1=0}, #& BCA, WS4 a FETTLLE (

A. 0 B. L C. 2 p. _L
p 2
(£ 11. B& x#0, W xeSfEmLE ¢ )
x
A. 4 B. 10 C. -6 D. 3

(Zik) 12. B%1a, b>0 H atb=1, N FHIAZERERSLHH ( )

A. ab%:i B. az+lc:-2}l
4 2
c. Va+o<n2 D. l%}m@
da

E\ iﬁ%ﬁ' Zliﬁ;j\: 4 /J\ﬁr ﬁ’bﬁ 5 ﬁ’ ;j\: 20 ﬁo

13. ©51— T8 “IRAZER X2 +bx+e<0 BIFREN (-1, 2), N bx’+x+e<0 IR N .

1. A (4-a) 3 (2> a)WOBRN
15. ¥ a N, A=[1, 4), B= (-, a), # ANBFQ, W a MEHEEEZ
16. #7 “Vx€[ -1, 1], x*2-m=0 {HOL” AT, WSE m KR KE R
MO, fEERR: ARE3L 6 /N, 370 4. MERNSHXFHEA. IFALEREESE.
17. ¥&m N, A={m+1, -3}, B={2m-1, m-3}, & ANB={-3}, R mKH.
18. f# FAIRT x FAEE.

(1 2x/x 21,

(2) X2- (a+1) x+a<0 (a€R).

e

)

19. W44 U=R, £H5 A=[1, 5], & B=[2-a, 1+2a], H aeR, #F “x€4” ;& “x€B” WFR A

B, K a MEBUETEH.
20. (1) £ X% - 2ax+a+2=0 7£ xeR _FHPHMR, K o HBUETEHE.
(2) FHEH y=x? - 2ax+a+2 AT SHAE (1, 3) W, K o FBUETERE.

21. HHIX FAEREE BN 0.8 TC/AkWh, FEHEEN akWeh, ANEFEHLPEEMNPES] 0.55 TC/kWh £ 0.75

Je/kWeh Z 18], TP R AN DY 0.4 JT/AWeh S BNEE, R LAY R ETE A R SR B A AT S

HHEMMZERR . (I RECH b, ZHX T EA N 0.3 J0/kWeh.
(1D FHARFEZEMN TH)E, BTN y 5P x KR8 R A

#2500 (3350



